R-HEHBERICE TR EZE R D LOLHEE

SH6E12A31HIRE)

EERH ZHEE EE3R (%)

SHEER 7 6 16.2
HTEHMES |BERK ZHEE EE3EE (%)
=0T 34 7 20.6
=P 12 3 25.0
= 14 2 14.3
EEh 21 4 19.0
TiET 15 2 13.3
Al 14 2 14.3
BET 14 3 214
TEFKT 12 1 8.3
mA+h 18 3 16.7
@t 18 2 11.1
EEH 18 5 27.8
Oiek=i 190 34 17.9
BUEHET 8 0 0.0
=3 FIET 10 0 0.0
HH 7T 10 2 20.0
= AT 10 0 0.0
Je)114F 8 2 25.0
BERA 8 1 12.5
= a4 10 3 30.0
T=AE 64 8 12.5
A LLIET 10 2 20.0
| K ST 10 2 20.0
K[ AR5 20 4 20.0
t{EHET 9 1 11.1
yNIIES] 6 0 0.0
|+ {EERET 15 1 6.7
LD HET 18 4 22.2
=) BT 10 0 0.0
) AREL 28 4 14.3
oh 1+ {£ BT 12 0 0.0
1% )1 BT 14 2 14.3
R AN ET 10 3 30.0
15 R ET 8 0 0.0
BE# 10 1 10.0
JEETET 9 2 22.2
74 5 +-H7 15 1 6.7
= [ AR ET 78 9 115
X AHT 10 1 10.0
=&+ 8 2 25.0
=2 EHET 14 3 21.4
% 2 BBET 32 6 18.8
EERH ZHEE EE3ER (%)

EE 190 34 17.9
BT ES 237 32 13.5
2K 427 66 15.5




